
《14.1.2幂的乘方》习题
一、判断题
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二、填空题
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三、选择题
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《14.1.2幂的乘方》习题
随堂检测
1、判断题，错误的予以改正
（1）、a5+a5=2a10（       ）
（2）、（x3）3 =x6（       ）

（3）、（－3）2·（－3）4=（－3）6=18（       ）

（4）、(xn+1)2=x2n+1（       ）

2、计算
1、（103）3
2、(－x4)7

3、[（－x）4]7

4、[(a-b)3]5·[(b-a)7]3
5、{[(-a)3]2}5

6、-(-m3)2·[(-m)2]3

7、(-a-b)3]2 [-(a+b)2]3

3、化简
(1)、5（P3）4（－P2）3+2[（－P）2]4（－P5）2
(2)、x m－4 x2+m－(－x m－1)2


_1234567905.unknown

_1234567913.unknown

_1234567917.unknown

_1234567919.unknown

_1234567921.unknown

_1234567922.unknown

_1234567923.unknown

_1234567920.unknown

_1234567918.unknown

_1234567915.unknown

_1234567916.unknown

_1234567914.unknown

_1234567909.unknown

_1234567911.unknown

_1234567912.unknown

_1234567910.unknown

_1234567907.unknown

_1234567908.unknown

_1234567906.unknown

_1234567897.unknown

_1234567901.unknown

_1234567903.unknown

_1234567904.unknown

_1234567902.unknown

_1234567899.unknown

_1234567900.unknown

_1234567898.unknown

_1234567893.unknown

_1234567895.unknown

_1234567896.unknown

_1234567894.unknown

_1234567891.unknown

_1234567892.unknown

_1234567890.unknown

